New pseudocode:
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Taylor problem 3.22: Student measures

| =2.10 £ 0.02 amps V =1.02 + 0.01 volts
a) What is power with uncertainty? P =1V
b) What is the resistance with? R=VII
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Which answer (power, resistance) has greater uncertainty?

A) Power 5/5 z (fry "(%

B) Resistance
C) Both are the same (}‘Z’
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wavestats
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Details

V_npnts
V_numNans
V_numiNFs
V_avg

V_sdev

V_sem

V_rms

V_adev

V_skew

V_kurt

Wave Stats /ALPH=val /{C=method IM=moment /Q [IR = (startX, endX )l/Z waveName
The WaveStats operation computes several values associated with the named wave.

WaveStats uses a two-pass algorithm to produce more accurate results than obtained by
computing the binomial expansions of the third and fourth order moments.

WaveStats returns the statistics in the automatically created variables:

Number of points. Doesn't include NaN or INF points.
MNumber of NaNs.

MNumber of INFs.

Average of Y values.

1 2
o= J— (¥.-V_avg)
Standard deviation of Y values, V_npnis - 12 '

("Variance" is V_sdev2.)

Standard error of the mean sem = & /JV _numPnts
RMS of Y values 1 P
(V_Hpmsz ! )

Average deviation 1 V_mpmiz— 1 B
= Tk > ¥,- Tl
Vonupmts .
1=
V_npmiz - 1 o
Skewness ~ 1 _Rpm Y,-Y T
~ V_mpnts _ED o
I=
Kurtosis 1 V. mprtzs - 1 ¥, - 7
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Statistical Parameters from Ch. 4:

Mean V_avg

Standard Deviation* V:sdev

Standard Deviation (Error) of the Mean V_sem

* Sample sdev with 1/(N-1)
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Some examples from Taylor (Sect. 4.5):

1. Areaof a Rectangle
2. Spring
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